Review solutions to select problems Saturday, May 9, 2020 2:55 PM

2

bounds for x

$$\int_{V_{3}}^{1} \cos\left(\frac{3\pi \cdot (x-1)}{u}\right) dx$$

$$= \int_{-2\pi}^{0} \cos\left(u\right) \cdot \frac{1}{3\pi} du$$

$$= \frac{1}{3\pi} \cdot \int_{-2\pi}^{0} \cos(u) \cdot du$$

$$= \frac{1}{3\pi} \left[\sin u\right]_{-2\pi}^{0}$$

$$= \frac{1}{3\pi} \left[\sin u\right]_{-2\pi}^{0} \left[\sin u\right]_{-2\pi}^{0}$$

$$= \frac{1}{3\pi} \left[\sin u\right]_{-2\pi}^{0} \left[\sin u\right]_{-2\pi}^{0}$$

$$= \frac{1}{3\pi} \left[\sin u\right]_{-2\pi}^{0} \left[\sin u\right]_{-2\pi}^{0}$$

2.d.
$$\int_{-3}^{0} (x+5) \sqrt{9-x^2} \cdot dx$$
$$= \int_{-3}^{0} x \cdot \sqrt{9-x^2} dx + \int_{-3}^{0} 5 \cdot \sqrt{9-x^2} dx$$

$$\begin{array}{l} \textcircled{2} \int_{-3}^{0} 5 \cdot \sqrt{9 - x^{2}} \, dx \\ = 5 \cdot \int_{-3}^{0} \sqrt{9 - x^{2}} \, dx \\ = 5 \cdot \frac{1}{4} \left(\text{Area of circle of radius 3} \right) \\ = 5 \cdot \frac{1}{4} \cdot \pi \cdot 3^{2} \\ = \frac{45}{4} \cdot \pi \cdot 3^{2} \\ \end{array}$$

2.c. Write $\left(\frac{3-\chi}{\chi}\right)^2 = \left(\frac{3}{\chi}-1\right)^2$ then distribute.

3.a.
$$\int \pi^2 \cdot \cos 3\pi \cdot d\pi$$

 $= u \cdot v - \int v \cdot du$
Let $u = \pi^2$, $dv = \cos 3\pi \cdot d\pi$
 $du = 2\pi \cdot d\pi$ $v = \int \cos(3\pi) d\pi$
 $= \pi^2 \cdot \frac{1}{3} \sin(3\pi) - \int \frac{1}{3} \sin(3\pi) \cdot 2\pi \cdot d\pi$
 $= \pi^2 \cdot \frac{1}{3} \sin(3\pi) - \frac{2}{3} \cdot \int \pi \cdot \sin(3\pi) d\pi$
 $\int \frac{1}{3} \sin(3\pi) - \frac{2}{3} \cdot \int \pi \cdot \sin(3\pi) d\pi$

Here
$$\int \frac{d \tan^{2} \pi}{d \tan^{2}} dx$$
 $\sin^{2} \pi - 4 \cos^{2} \pi - 1$
 $= \int \frac{b \cos^{2} \pi}{d \tan^{2} \pi} dx - \int \frac{d \tan^{2} \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{b \cos^{2} \pi}{d \tan^{2} \pi} dx - \int \frac{d \tan^{2} \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{b \cos^{2} \pi}{d \tan^{2} \pi} dx - \int \frac{d \tan^{2} \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{b \cos^{2} \pi}{d \tan^{2} \pi} dx - \int \frac{d \tan^{2} \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \tan^{2} \pi} dx$
 $= \int \frac{d \pi}{d \tan^{2} \pi} dx$ $\frac{d \pi}{d \pi} dx$
 $= \int \frac{d \pi}{d \pi} (2\pi)^{2} \pi - \int \frac{d \pi}{d \pi} dx$ $\frac{d \pi}{d \pi} dx} dx$ $\frac{d \pi}{d \pi} dx$ $\frac{d \pi}{d \pi} dx$ $\frac{d \pi}{d \pi} dx} dx$ $\frac{d \pi}{d \pi} dx$ $\frac{d \pi}{d \pi} dx} dx$ $\frac{d \pi}{d \pi} dx$ $\frac{d \pi}{d \pi} dx$ \frac

$$= 5 \cdot \int ton^2 \theta$$
$$= 5 \cdot ton \theta$$

5.c. use
$$\int x = \int \partial \theta$$
.
 $\int dx = \sec^2 \theta \cdot d\theta$.

6.a. $\int \frac{2\pi^4}{\pi^2 - 2\pi} d\pi$ numerator has higher degree than the denominator.

$$\frac{2\pi^{2} + 4\pi + 8}{\pi^{2} - 2\pi} \int \frac{2\pi^{4} + 0 \cdot \pi^{3} + 0\pi^{2} + 0\pi + 0}{2\pi^{4} - 4 \cdot \pi^{3}} \int \frac{1}{\sqrt{2\pi^{4} + 4\pi^{3} + 0\pi^{2}}} \int \frac{-(4\pi^{3} - 8\pi^{2})}{\sqrt{2\pi^{4} + 4\pi^{3} + 0\pi^{2}}} \int \frac{-(4\pi^{3} - 8\pi^{2})}{\sqrt{2\pi^{3} + 8\pi^{2} + 0\pi}} \int \frac{16\pi}{\sqrt{2\pi^{4} + 16\pi}}$$

This means $2\pi^{4}$ = $2\pi^{2} + 4\pi^{2} + 8\pi^{2} + 16\pi^{2}$

This means
$$\frac{2\pi^4}{\chi^2 - 2\pi} = 2\pi^2 + 4\pi + 8 + \frac{16\pi}{\pi^2 - 2\pi}$$

Portial Frac. Decomp: rewrite
$$\frac{16x}{x^2 - 2x} = \frac{16x}{x(x-2)} = \frac{A}{x} + \frac{B}{x-2}$$

Clear denominators: 16x = A·(x-2) + B·x

$$= (A+B)n - 2A$$

$$= 16 = A + B$$

$$= 7 A = 0 B = 16$$

$$\int \frac{2\pi^{4}}{\pi^{2}-2\pi} = \frac{16}{\pi-2}.$$

$$\int \frac{2\pi^{4}}{\pi^{2}-2\pi} d\pi = \int (2\pi^{2}+4\pi+8+\frac{16}{\pi-2}) d\pi$$

$$= \frac{2}{3}\cdot\pi^{3}+2\cdot\pi^{2}+8\pi+16\cdot\ln|\pi-2|+C$$

9.6. Region
$$R$$
: $y = \sin x$
 $y = 5 \sin x$
 $x = 0$
 $x = \pi$.
 $y = \sin x$
 $y = \sin x$

Washer method:

Volume =
$$\pi \cdot \int_{0}^{b} R^{2} - r^{2} dx$$

= $\pi \cdot \int_{0}^{\pi} (5 \sin x)^{2} - (\sin x)^{2} \cdot dx$ replace with $1 - \sin^{2} x$
= $\pi \cdot \int_{0}^{\pi} 24 \cdot \sin^{2} x \cdot dx$ $\cos(2\pi) = \cos^{2} x - \sin^{2} x$
= $1 - 2 \cdot \sin^{$

$$= 12 \cdot \pi^{2}$$

10. Find length of
$$y = -\frac{1}{2}x + 2$$
 from $x = 1$ to $x = 4$.
Arclength $= \int_{a}^{b} \sqrt{1 + [f'(x)]^{2}} \cdot dx$ apply this with $f(x) = -\frac{1}{2}x + 2$
 $f'(x) = -\frac{1}{2}$.
 $= \int_{1}^{4} \sqrt{1 + (-\frac{1}{2})^{2}} dx$
 $= \int_{1}^{4} \sqrt{\frac{5}{4}} \cdot dx$
 $= \sqrt{\frac{5}{4}} \cdot [x] \Big|_{1}^{4} = \sqrt{\frac{5}{4}} \cdot 3$ How do we see this geometrically?

$$\frac{3}{2} \int_{1}^{2} \frac{1}{\sqrt{1 + \frac{1}{2}}} \frac{1}{\sqrt{1 +$$

Given

$$R = \begin{cases} y = 0 & \text{Rotate around axis } y = -2. \\ y = \cos(8x) \\ x = \frac{\pi}{16} \\ x = 0 \end{cases}$$

$$\cos(8x) = 0 \iff 8x = \frac{\pi}{2} + k \cdot \pi \text{ for any integer } k.$$

os
$$(8x) = 0 \langle = \rangle$$
 $8x = \frac{\pi}{2} + k \cdot \pi$ for any integer k.
 $\langle = \rangle \quad \chi = \frac{1}{8} \cdot \left(\frac{\pi}{2} + k \cdot \pi\right)$
 $\langle = \rangle \quad \chi = \frac{\pi}{16} + \frac{k \cdot \pi}{8}$ for any integer k.

Find volume.

$$y\left(\frac{\pi}{16}\right) = \cos\left(8 \cdot \frac{\pi}{16}\right) = \cos\left(\frac{\pi}{2}\right) = 0$$

$$R = \cos(8\pi) - (-2) = \cos(8\pi) + 2.$$

$$R = \cos(8\pi) - (-2) = \cos(8\pi) + 2.$$

$$r = 0 - (-2) = 2$$

$$R = \pi \cdot \int_{0}^{\frac{1}{16}} (R^{2} - r^{2}) dx = \pi \cdot \int_{0}^{\frac{1}{16}} [(\cos(8\pi) + 2)^{2} - 2^{2}] dx$$

$$= \pi \cdot \int_{0}^{\frac{1}{16}} [\cos^{2}(8\pi) + 4 \cdot \cos(8\pi) + 4 - 4] dx$$

$$= \pi \cdot \int_{0}^{\frac{1}{16}} \frac{1}{2}(\cos(16\pi) - 1) + 4 \cdot \cos(8\pi) dx$$

$$\cos^{2} \pi = \frac{1}{2}(\cos(2\pi) - 1)$$

$$\lim_{x \to \infty} \cos^{2}(8\pi) = \frac{1}{2} \cdot (\cos(16\pi) - 1)$$

$$\lim_{x \to \infty} \cos^{2}(8\pi) = \frac{1}{2} \cdot (\cos(16\pi) - 1)$$

$$\lim_{x \to \infty} \cos^{2}(8\pi) = \frac{1}{2} \cdot \cos(16\pi) - 1$$

$$\lim_{x \to \infty} \sin(8\pi) = \frac{1}{2} \cdot \cos(16\pi) - 1$$

$$\lim_{x \to \infty} \sin(8\pi) = \frac{1}{2} \cdot \cos(16\pi) - 1$$

$$\lim_{x \to \infty} \sin(8\pi) = \frac{1}{2} \cdot \cos(16\pi) - 1$$

$$\lim_{x \to \infty} \sin(8\pi) = \frac{1}{2} \cdot \cos(16\pi) - 1$$

$$\lim_{x \to \infty} \sin(8\pi) = \frac{1}{2} \cdot \cos(16\pi) - 1$$

$$\lim_{x \to \infty} \sin(8\pi) = \frac{1}{2} \cdot \cos(16\pi) - 1$$

$$\lim_{x \to \infty} \sin(8\pi) = \frac{1}{2} \cdot \cos(16\pi) - 1$$